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1)#=0rS BBIIIIPAILAIY 148,920,000 148,920
03 Al& 2 ChH] 1,080 1,620 A540
NY=0S BTIIBAIL ALY 1,080,0002 1,080
AT ZE M ALY (B X) 2,865,471 0 2,865,471
3 1,519,000
= 32,550




24 ST It
H=0l2 THA
=02 E S A

SA - HE . CR(B]H) - NBEAIY - HA2 A} OH &EIE Ho=2t
- cSH I T2 ° . [= Bl e =5 0:”/‘l|_% Lsa
= 1,313,921
401 A& HIZ 20HYI 2,286,899 0 2,286,899
= 1,114,000
& 23,871
= 1,149,028
01 Al & Hl 2,278,666 0 2,278,666
NAGHASE ZHHIALS 1,585,699,000& 1,585,699
= 1,109,990
& 23,785
= 451,924
NAAC S HIALS 692,967 ,000& 692,967
03 AIE 2 H 8,233 0 8,233
DR S HBIALS 5,729,000& 5,729
= 4,010
& 86
i 1,633
NAAC YA 2,504,000& 2,504
403 XXM S K201 M 578,572 0 578,572
= 405,000
& 8,679
= 164,893
02 BI|12S SHCH& ALY 578,572 0 578,572
NAAC S U ALY 578,572,000& 578,572
& 405,000
& 8,679
= 164,893
HE AL (AL 13,500 17,320 A 3,820
Jl2& | 13,500 17,320 A 3,820
Jl2Z | 13,500 17,320 A 3,820
201 B2 | 5,100 8,640 A 3,540
01 At 2teltl 5,100 8,640 A 3,540
DR R=lE =] 3,000
2)RN2ZE ARESHI 200,000& *15H 3,000
1Sl 2,100
Q)2N2E Sl 7,000& x15% x203] 2,100
202 0dl 4,200 4,480 A 280
01 = LHOI B 4,200 4,480 A 280
NEM2Y =L 70,0003 x 15 x4 4,200
203 g2 =& 4,200 4,200 0
04 FEN2ELRFLEY| 4,200 4,200 0
nNgex 350,000& = 12& 4,200
RS (HEYTHD 70,000 0 70,000
LHEHHXI= 70,000 0 70,000
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A AL ST
M HRs(HELWY)
ol WEHAHXIE

SA BB CR(SH) - NRAY - A S 0fl b S
0 4 o
HEHHRIE 70,000
RIISHEZ 70,000
01 II3d8E= 70,000
N2 &2 70,000,000& 70,000
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